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Find all values of &in the range 0° < 6 < 360° satisfying
in g+ 12 cos’6 = 6. &1
Find all values of xin the range 0° < x < 180° satisfyiz; g
cos(2x — 35%) = (+891. 3
Find a8 values of ¢ n the range 0° £ ¢ < 360° satisfying
sin g+ cosg= 0. [31
June 2011
Find all values of f in the ranze 0° £ 8 < 360° satisfying
10sm* 8+ 7oosfd = Scos?§+ 8. 6
Find all values of xin the range 0° < x < 360° satisfying
sin(x — 50°) = - (-682. {3]

Without cazrying out any caleulations, explain why there are no walues of ¢ which
satisfy the equation
sing+cos¢ =3. [
lan 2012

Find all values of 8in the range 0° € 8 € 360° satdsfying

T~

— A2 A = £
FIE oI 4 fmi

= o H0OkE =4 & — 7

Find all values of xin the range 0° < x € 180° satisfying
sin {3x—21%) = - 0-809. [3]
Find all vaiues of ¢ in the range 0° € ¢ < 360° satisfying
cos@ —Ssind = (. 3
June 2012
Find all values of 8between 0° and 360° satisfying
7 sin?8- sin@ = 3cos?4. [6]

Find all values of x between 0° and 180° satisfying
tan(3x - 20°) = 1.28. + ' [4]
Jan 2013
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